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QUESTION 1

From the output of the command "network interface show", the logical interface that has a value of "false" under the "Is
Home" column signifies it (choose all that apply)

A. Is disconnected

B. Has failed over

C. Is administratively disabled

D. Has been migrated

E. Is currently being migrated to home node

Correct Answer: BD

QUESTION 2

An administrator creates an account for a new user, and wants this user to have limited capabilities accessing SSH. The
administrator defined the account, but the user still has full control.

Which two settings would the administrator use to correct this problem? (Choose two.)
A. the user account settings in OnCommand system Manager

B. the user account settings of the admin account

C. the user account settings in Windows Active Directory Users and Computers

D. the user account settings in the clustershell

Correct Answer: CD

QUESTION 3
What is considered when selection LS mirror copy? (choose three)

A. If an LS mirror copy is on the same node as the network module that fields the request, the network module uses that
LS mirror copy

B. If a write request goes to LS mirror, It forward it to flexvol

C. if no LS mirror copy is on the same node as the network module that fields the request, the network module uses an
up-to-date LS mirror copy on another node.

D. If a write request goes to LS mirror, it returns error.

Correct Answer: ACD
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QUESTION 4

At which two levels would you be able to create a SnapMirror policy? (Choose two.)
A. aggregate

B. cluster

C. volume

D. SVM

Correct Answer: AC

Reference: https://library.netapp.com/ecmdocs/ECMP1610202/html/snapmirror/create.html

QUESTION 5

Which LIF parameter determines the ports that the LIF moves to when the current interface goes offline?
A. auto-revert

B. ipspace

C. failover-group

D. netmask

Correct Answer: C
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